Exploded View : EEV MTG BASE STD D3.3L G2 C2

Drawing No. : 10000019517

Page 1 of 2

Revision : CN-0028081-B

Date : 7/16/19



EXPLODED VIEW: EV MTG BASE STD D3.3L G2 C2
DRAWING #: 10000019517

APPLICABLE TO:

GROUP C

ITEM PARTH# QTY. DESCRIPTION
1 A0000186458 1 ST03 WELDMENT BASEFRAME D3.3L
2 (G052860 4 NUT TOP LOCK FL M12-1.75
3 052251A 4 DAMPENER VIB 50 WHITE
4 0C2454 1 SCREW HWHT M6-1 X 16 N WA Z/JS
5 055934D 1 CLAMP STL/VNL 1.06 X .406 Z
6 0C3168 1 WASHER LOCK SPECIAL 5/16
7 10000016904 1 ASSY WIRE 20.0
8 G022097 1 WASHER LOCK SPRING 1/4 ZC
9 0G3111 1 SCREW HHTT M6-1.0 X 25 ZINC
10 G052257 4 SPACER .49X.62X1.87 PWDR/ZINC
11 G052252 4 DAMPER VIBRATION
12 G052259 4 WASHER FLAT M12
13 G052891 4 SCREW HHC M12-1.75 X 80 C8.8

REVISION: CN-0028081-B
DATE: 7/18/19

Page 2 of 2



